i Polars Rang

ser Model, 260

s Your Polaris accessory is exclugively designed for youwr vehicle

and up

oire beginning, please read ihese

instructions and wake sure that all paris and {ools are al your disposal, Keep these wsinciions for fuivee veference or for any

mformaiion requesi. To facilitaie insiallaiion, make sure that your vehicle is elean and free of any debris.

Content of ihe ldi:

Ref,  Description Qty Description
Lower windshield | M8 x 25 mum Torx button head cap screw
Upper windshield I M8 tender washer

03 Foaim trim | og| M8 flal washer

— Canty F 1O v “the 0

4] Sealing Jomt (.)i the f [09] ME bexagonal locknui

. fower windshield - ;

e Sealing joint of the e

o5 Deating J I [19] {.75-in. P-clamp

upper windshield

eouired tnols:

ipiion Oty

| 2-mm wrench |
{3 wrench |
| 2-mum socked |
| 31 sockei i
T40 Torx wrench 1

GLOBAL VIEW

3510054

A-3510054




1
%

TRY

o

L. Place the lower windshield 01, the foam trim 03] and the upper windshield D72 ioecther. Assemble them using four 4
o ; ; Pt e ’ £

06, cight (8) M8 flai washers [08] and four (4) hexavonal locknuis 109
3 g £

bution head screws

HOTE: Do not over torque aitachments (25 bs-fi maximum) (Fig. 1).

FIGURE

2. For easy mounting, apply a sealing joint k)é] to the upper windsbhield and a sealing joini [Q:/J] io the lower windshield, Press
the upper windshield on the lower windshield and cut the excess sealing joint, if needed (Fig. 2).

05
o o N TN
~ 4 ; ,

Py o
! %

FIGURE 2

Installation of the Windshield on the Vehicle

3. Place the windshield assembly on the vehicle. Place the eight (8) P-clamps @ along the cabin frame perimeter. Attach the
windshield by assembling the eight (8) button head screws , the eight (8) M8 fender washers ', the eight (8) P-clamps
and the eight (8) locknuts [09] (see global view).

NOTE: Do not over torque attachments (25 1bs-ft maximum).

3510054
A-3510054



[, Usea high pressure waier sprayer (0 cinse the lacge dir pariicles from the windshield,
2. Once most of dirt is removed, use lukewarm soapy water and a cotion terry cloth to wash all windshield components,

3. Ringe thoroughly and allow io air dry.

4, Use a premium plasiic cleaner or polish such as Plexus” or Novus® (o properly clean the viewing acea of the windshield

(never use paper iowels, only use cotion terry cloths).

3510054
A-3510054




